Hardware

MM - MQ

I/0 with EMI/RFI Backshell

475 — |
(.485%)

190 MAX
(185 MAX*)

f

125 HEX
(187 HEX*)

#2-56 UNC—2A
(#4—40 UNC—2A%)

SPANNER NUT

#2—56 UNC-2B
x .165 MIN THREAD

(#4—-40 UNC-28B LOCKWASHER
x 170 MIN THREAD*) FLAT WASHER
JACKPOST ASSEMBLY

#2—56 JACKPOST
#4—40 JACKPOST

00—-000—000-000—-2200—-01G
00—-000—000—-000—6200—04A

— 138 DIA MAX
(.200 DIA MAX*)
WITH KNURL
#2—56 UNC—2B — H J %‘ T
x .090 MIN THREAD 125 DIA
(#4—40 UNC—2B*) (.187 DIA*) SEE DETAIL A
x .110 MIN THREAD
RETAINING RING LONG TURNING
JACKSCREW ASSEMBLY

#2—56 JACKSCREW, SLOT HEAD
#4—40 JACKSCREW, SLOT HEAD

FOR RECEPTACLES WITH GROUNDING FINGERS
#2—56 JACKSCREW, SLOT HEAD
#4—40 JACKSCREW, SLOT HEAD

00—000—000-000—-4400-01G
00—000—000—-000—8400—04A

00—000—000—000—4400—-0FZ
00—000—000—-000—-8400—-0FZ

356
(.412%)
(.371%%)
080 |-
(.098%) (.427%%)
ﬂ e 125 DIA
#2-56 UNC—2B

x .090 MIN THREAD
(#4—40 UNC-2B
x 110 MIN THREAD*)

T (187 DIA%)
SEE DETAIL A
RETAINING RING

SHORT TURNING
JACKSCREW ASSEMBLY

#2—56 JACKSCREW, ALLEN HEAD 00-000—000-000-4100-01G
#2—56 JACKSCREW, SLOT HEAD  00—000—000—-000—-4300-01G
#4—40 JACKSCREW, ALLEN HEAD 00-000—000—000—-8100—04A
#4—40 JACKSCREW, SLOT HEAD  00—000—000—000—8300—04A

~

#2—56 JACKSCREW, ALLEN HEAD

# 00—000—000—000—4100—0FZ
#2—56 JACKSCREW, SLOT HEAD

f

7

00—000—-000—000—4300—-0FZ
00—000—000—000—8100—0FZ
00—000—-000—000—-8300—0FZ

O
1 1,16

HEX

#4—40 JACKSCREW, ALLEN HEAD
#4—40 JACKSCREW, SLOT HEAD

S

SLOT HEAD

.030

ALLEN HEAD

DETAIL A

* = Dimensions for #4-40 hardware (100 position connectors)
** = Applies to #2-56 hardware for receptacles with grounding fingers
** = Applies to #4-40 hardware for receptacles with grounding fingers

MM - MK
Rear Panel Mount Jackposts
for Body Styles IIA", "C", "E", "H"’ "K"’ and "L"

#2-56 UNC-2A

x .175 MIN THREAD*)

| — x .165 MIN THREAD
\I\ (#4—40 UNC—2A
.156 DIA — [T
(.216 DIA%) = [ S
- L.MG DIA
#2—-56 UNC-2B (.152 DIA*)
x 150 MIN THREAD
(#4—-40 UNC-28B
x 170 MIN THREAD*) —{ |~ PANEL THICKNESS
— A |——

* = Dimensions for 100 position connectors

PANEL | THREAD A
THK SIZE PART NUMBER MAX
.040 MM-—000-000-000-2400-0D1 | .150
.060 #2-56 MM—000-000-000-2600-0D3 | .130
.070 MM—000-000—000-2800-0D5 | .120
.080 MM-—000-000-000-2900-0D7 | .110
.040 MM—000-000-000-6400-0D2 | .150
.060 44— 40 MM-—000-000-000-6600—-0D4 | .130
.070 MM—000-000—000-6800—-0D6 | .120
.080 MM—000-000—000-6900-0D8 | .110

"M” Series Connectors
MA—-7

Call (972) 931-3200 Fax (972) 931-9305 www.AirBorn.com

REV C
CTMA047



X-ON Electronics

Largest Supplier of Electrical and Electronic Components

Click to view similar products for D-Sub MIL Spec Connectors category:
Click to view products by AirBorn manufacturer:

Other Similar products are found below :

M85049/50-5F MDM-21PHO46F 850-056-0812 1218697-4 1484349-1 17D25HV 1996840-1 243082-15 1757682-1 17D-E51218-1
17SDA15S 1883533-1 1883886-1 1883889-1 192900-0377 M?24308/8-347 M83513/03-E09C 443961-3 MDM-21PHO41F MDM-
21PHO48F 5-1218949-1 550-031INF1R6K 3-1236089-2 550E00INF1R3JOL 550TO0INF1R6KOL 557T283NF5B08 DB121073-56
DC121073157 443869-3 443869-4 443869-5 550S004NF1R1BOF03 557E283NF1A06 527-019NFO303R2K1F 5-446405-1 550-
031INF1R2E 550E003M?2R9J0OF04 550E003M3R9JOF05 550E024M104R9J0 550E024NF102R3J0B 550E039NF1R3J1-02
550S003M 3R9BOF05 550S004M4R7MOF04 550S004NF1R1B1F02 550S008M 3FOKOF04 550S086M5R3J0L 550S100NF3FOE
550TO0IM2R7EOL 550TOO0INF1FOB1L 550TO0INF1R1KO0G



https://www.x-on.com.au/category/connectors/mil-spec-mil-type/d-sub-mil-spec-connectors
https://www.x-on.com.au/manufacturer/airborn
https://www.x-on.com.au/mpn/itt/m85049505f
https://www.x-on.com.au/mpn/itt/mdm21ph046f
https://www.x-on.com.au/mpn/glenair/8500560812
https://www.x-on.com.au/mpn/teconnectivity/12186974
https://www.x-on.com.au/mpn/teconnectivity/14843491
https://www.x-on.com.au/mpn/amphenol/17d25hv
https://www.x-on.com.au/mpn/teconnectivity/19968401
https://www.x-on.com.au/mpn/teconnectivity/24308215
https://www.x-on.com.au/mpn/teconnectivity/17576821
https://www.x-on.com.au/mpn/amphenol/17de512181
https://www.x-on.com.au/mpn/amphenol/17sda15s
https://www.x-on.com.au/mpn/teconnectivity/18835331
https://www.x-on.com.au/mpn/teconnectivity/18838861
https://www.x-on.com.au/mpn/teconnectivity/18838891
https://www.x-on.com.au/mpn/itt/1929000377
https://www.x-on.com.au/mpn/amphenol/m243088347
https://www.x-on.com.au/mpn/teconnectivity/m8351303e09c
https://www.x-on.com.au/mpn/teconnectivity/4439613
https://www.x-on.com.au/mpn/itt/mdm21ph041f
https://www.x-on.com.au/mpn/itt/mdm21ph048f
https://www.x-on.com.au/mpn/itt/mdm21ph048f
https://www.x-on.com.au/mpn/teconnectivity/512189491
https://www.x-on.com.au/mpn/glenair/550031nf1r6k
https://www.x-on.com.au/mpn/teconnectivity/312360892
https://www.x-on.com.au/mpn/glenair/550e001nf1r3j0l
https://www.x-on.com.au/mpn/glenair/550t001nf1r6k0l
https://www.x-on.com.au/mpn/glenair/557t283nf5b08
https://www.x-on.com.au/mpn/itt/db12107356
https://www.x-on.com.au/mpn/itt/dc121073157
https://www.x-on.com.au/mpn/teconnectivity/4438693
https://www.x-on.com.au/mpn/teconnectivity/4438694
https://www.x-on.com.au/mpn/teconnectivity/4438695
https://www.x-on.com.au/mpn/glenair/550s004nf1r1b0f03
https://www.x-on.com.au/mpn/glenair/557e283nf1a06
https://www.x-on.com.au/mpn/glenair/527019nf0303r2k1f
https://www.x-on.com.au/mpn/teconnectivity/54464051
https://www.x-on.com.au/mpn/glenair/550031nf1r2e
https://www.x-on.com.au/mpn/glenair/550031nf1r2e
https://www.x-on.com.au/mpn/glenair/550e003m2r9j0f04
https://www.x-on.com.au/mpn/glenair/550e003m3r9j0f05
https://www.x-on.com.au/mpn/glenair/550e024m104r9j0
https://www.x-on.com.au/mpn/glenair/550e024nf102r3j0b
https://www.x-on.com.au/mpn/glenair/550e039nf1r3j102
https://www.x-on.com.au/mpn/glenair/550s003m3r9b0f05
https://www.x-on.com.au/mpn/glenair/550s004m4r7m0f04
https://www.x-on.com.au/mpn/glenair/550s004nf1r1b1f02
https://www.x-on.com.au/mpn/glenair/550s008m3f0k0f04
https://www.x-on.com.au/mpn/glenair/550s086m5r3j0l
https://www.x-on.com.au/mpn/glenair/550s100nf3f0e
https://www.x-on.com.au/mpn/glenair/550t001m2r7e0l
https://www.x-on.com.au/mpn/glenair/550t001nf1f0b1l
https://www.x-on.com.au/mpn/glenair/550t001nf1r1k0g

